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QUESTION 1

Which console cable is used on an HP Comware switch? 

A. cross-over 

B. rollover 

C. USB 

D. straight-through 

Correct Answer: B 

 

QUESTION 2

Which management protocol is enabled, by default, on HP Provision switches? 

A. Syslog 

B. SSH 

C. SNMP 

D. NTP 

Correct Answer: B 

 

QUESTION 3

Which HP switch supports nine switches in an IRF topology? 

A. 5120-SI 

B. 5820 

C. 7500 

D. 12500 

Correct Answer: B 

 

QUESTION 4

What is a key emerging standard protocol that HP Virtual Application Networks (VAN) use to implement Software-
Defined Networks (SDN)? 

A. IMC 
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B. OpenFlow 

C. FlexFabric 

D. OpenStack 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A network administrator has a server currently connected to an access layer switch. The network administrator needs
link redundancy for the server and wants to add a second access layer switch and connect it to the server. Which
solution should the network administrator implement to accomplish this goal? 

A. Add a Provision switch as the new switch and implement distributed trunking. 

B. Add a Provision switch as the new switch and implement IRF. 

C. Add a Comware switch as the new switch and implement MSTR 

D. Add a Comware switch as the new switch and implement link aggregation. 

Correct Answer: B 
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